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(ii) . Define permanent employment. 2. Why women wage rate is Low?

W PR S R Fif wfeenell @ wergdl 9 @t A 27
(i) Differentiate between an employer and employee. 3.  Find out the equilibrium between wage and employment
level under perfect competition.
fordre @ e ¥ R ; R

gt sivifer & woigd @ AR 'R $ 99 9 SRl

4. Describe the assumption of marginal physical productivity.

dria s SaREaD & aaet @ RRE HiR

5. Show the _:ﬁm:m_.m_:o: between technology change and

(iv) Define labour economics.

oo e B ReING S

(v) What is Bmm:_:u of monopoly?

Mm_m:"w_ﬂﬂ. &l Qmmw mﬂ._mw_ . OEUwOv:.:m:._”.
(vi) Define labour supply furiction. .  geE qREds g AR B " SiaEery gansdl
™ Mﬂ % H aRfee i _ 6.  Explain the meaning and difference between MRP and VMP.
(vii) What is average productivity of labour? MRP & VMP & 318 9 iy gusiEd
79 3 e SeATEhAr 40 & A 7.  What is the benefits of collective Bargaining? Explain.
(viii) What do you mean by Social Security? ,m%mm @wm._mw & T @ &7 FaEdl
oG YREM 8 SMH T A 27 8.  Discuss the causes of Child Labour in India.
Section-B IR § I S D BN B A Hordl
(Short Answer Questions) 9.  Explain the occupational distribution of population.
Note: Answer any four questions. Each answer should be given S B AEARE Em_.mﬂ. TR
in 200 words. Each question carries 8 marks. ~ 4x8=32 > i :
: Section-C
_ : Aﬂw i nﬁv (Long Answer Questions)
AMe: 5 TR ueEl 3 39T ST 99% 99 @ 39 200 9Kt § Note: Answer any two questions. Answer of each question should
AT T 99 8 ot @ be given in 500 words. Each question carries ,_mwmﬂmmq_“mm.w
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